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600,000,000& 600,000
=ZE & A 554,191 456,178 98,013
401 Al HI K 201 554,191 456,178 98,013
01 A& tI 550,200 452,917 97,283
O=EMLANL(XNEWA) 550, 199,460& 550,200
03 A& =2 THHI 3,991 3,261 730
OAIE 24 3,990, 160& 3,991
SZotD ZEE 3AHXel 47,151 42,284 4,867
101 @124l 18,591 17,364 1,227
04 D12t 22 HEE = 18,591 17,364 1,227
OHINRA JIZHI2XNHE > 18,591
OPIE--= 51,800 = 1 » 269 * 123 16,162
OFEFItHI 200,000& = 23l 400
OSXEAUE 300,000& * 13 300
O=Rd=RE= 16,162,0008 * 4.5% 728
O=0AHLEERLZ 16,162,000& * 3.06% 495
OEINRYEEHRELES 495,000& = 6.55% 33
(OIE=30=: Py =g= 16,162,000& * 1.5% 243
OQUNEERE S 16,162,000 * 1.42% 230
201 Let2d] 12,560 12,920 A 360
01 At 2teltl 12,560 12,920 A 360
OLUctEH =2 20,000& = 50A 1,000
OSHAANZSRE MEESEER
100,000& * 40 4,000
OMELRIEE =T 330,000& * 2A 660
OXNESLN HEE 428 78 500
(OF-=! 200,000& » 1A 200
oteg 100,000& * 3HIE 300
OgRENN wO 10,000& = 80% 83l 6,400
203 YR =& 16,000 6,000 10,000
03 A Z=AH S Z=ZH| 16,000 6,000 10,000
ostgayx YR 9,000, 000& 9,000
OogZag o & QIRHA FA
7,000,000& 7,000
9D MRS OB E4 2,419,250 1,270,450 1,148,800
2 885,390
< 266,920
Al 1,266,940
HOHILAXE PYH EX 264,000 492,000 A 228,000
= 132,000
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= 132,000
< 39,600
Al 92,400
02 QI EAISEZ (OIS ) 264,000 0 264,000
OFAINAHA 2 X
12,000,000& * 22CH 264,000
= 132,000
< 39,600
Al 92,400
ol & TsXHEotA 22 519,046 394,206 124,840
201 €24 512,796 259, 156 253,640
01 At 22l 507,120 252,720 254,400
OXNSXHHHENAZTEI ETIAMN =8 720
OZEntal HHA=ED| 250,000& =« 1CH 250
OCO/HC 53| 200,000& =+ 1CH 200
OH=&EE dHiCI23t02t 120,000& = 104 120
Ol HFZH 28 ¢ w3H
50,000& = 34 150
OLSART MUY MF JRUBL4E
12,0008 * 200CH 2,400
OUIIEZFEML a==Xt Xt
7,000,000& = 804 » 93 504,000
02 =224l 5,676 6,436 A 760
O A& EHl s Xl 1,377
OXtS X =LA CO/HCEF DI
9,424,000& * 6% 566
OXsXEItA IHAZSH D
13,510,000 * 6% 811
Ooxtzdetdl (=41, |FFHI)
4,299,000  1CH 4,299
202 oddl 3,000 1,800 1,200
01 = LH o4 1 3,000 1,800 1,200
oMyl HfFa 20,0003 = 3H » 50¢ 3,000
206 = Hl 3,250 3,250 0
01 MHZ 4l 3,250 3,250 0
OsZEFEH JIAMM 2 3,250
Ot &8 HolZ(258)
50,000& = 60H 3,000
Oselg(iL) 2,500& = 1004 250
A5 - s 22 4,032 1,032 3,000
201 L2l 1,032 1,032 0
01 At 22l 132 132 0
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= 476,000
< 136,000
Al 296,000
402 RI2EX20| A 720,000 112,000 608,000
= 420,000
< 120,000
Al 180,000
02 U2 TEALEZ(0IETHR) 720,000 0 720,000
0B =8 MIIXNSI FL€H X
24,000,000& * 30CH 720,000
= 420,000
= 120,000
Al 180,000
405 XHoHF S HI 188,000 51,000 137,000
= 56,000
< 16,000
Al 116,000
01 AL EZFH S 188,000 51,000 137,000
(OFSPIPNE=PN R | 45,000,000& = 404 180,000
= 56,000
< 16,000
Al 108,000
OHEIINEX SHEAE 2,000,000& =« 4CH 8,000
AN DEE ROUAFHEZI| 2el 121,920 8,220 113,700
201 €24 26,920 8,220 18,700
02 =224l 26,920 8,220 18,700
ORUAFFFI &I, SULB 10,920
OCHY 23 100,000& » 12& 1,200
Osde=2(st01E21S 106:011)
25,000& = 1004 ~ 123 3,000
OSMSE X S A2 Z2(TMS 100)
60,000& = 14l = 128 720
odIIe3 50,000& = 10CH = 12& 6,000
ORUAFHZFHI AL EHH KX HI
200,000,000& = 0.08 16,000
405 RHoHE S HI 95,000 0 95,000
01 AL EZFH S 95,000 0 95,000
FoUARFH=HI 2 Y 30,000,000& * 304 90,000
OAFHZHI 7 5,000,000& =« 1CH 5,000
HII0IEXE S AL 35,000 22,500 12,500
= 13,750
Al 21,250
402 BI2FX=01 M 15,000 22,500 AT7,500
= 7,500
Al 7,500
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02 QI EASEZ (OIS ) 15,000 0 15,000
0B =8 HMII0EX *LH X
2,500,000& =« 6CH 15,000
= 7,500
Al 7,500
405 RHoHF S HI 20,000 0 20,000
= 6,250
Al 13,750
01 AL EZFH S 20,000 0 20,000
OXII0IEX FYHI(Z0l, L=, 8=, 434l
=g, 82418) 4,000,000& =« 5CH 20,000
= 6,250
Al 13,750
2HLFA WEIHL HZALL(ZINH XX ) 257,280 0 257,280
= 128,640
< 64,320
Al 64,320
402 QI2H X201 M 257,280 0 257,280
= 128,640
< 64,320
Al 64,320
02 QI EAILS EZ (OIS ) 257,280 0 257,280
OLFZRX ZIIHI XA
1,286,4002 * 200CH 257,280
= 128,640
< 64,320
Al 64,320
etZdH HEEA FEIIBEA 2,384,163 2,221,258 162,905
= 545,600
J| 108,000
< 215,980
Al 1,514,583
=MEH MES 886,236 650, 756 235,480
= 57,000
Al 829,236
SFMENE 4t 100,000 84,600 15,400
307 21201 A 100,000 70,000 30,000
02 IZtE S AHE L 100,000 70,000 30,000
OSZME MEZ218 2% 100,000,000 100,000
I ZHSHAM =& 319,460 234,640 84,820
201 €24 152,760 92,640 60,120
01 At 2t 2l 52,660 52,600 60
OEHAZQE Ot & AMEAM HMZ
200& = 10,0000H 2,000
OBHEZ AN HHESE SANAN X 2LEHEA
N H2EHE 50,000,000& 50,000
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Shol =MEy M (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHE=A st=Hll &L A3l 550,000& 550
OHEA SIHHE ANAEE JZHEHEUSEM A
Al | 110,000& 110
02 2324l 100,100 40,040 60,060
OtHi&ad He 100,100
Oi=d gl s 20,000& * 5,000& 100,000
Oi&d Mg+ 2 100,000,000& * 0.1% 100
202 o4l 2,700 0 2,700
01 = LH 4 Hi 2,700 0 2,700
OJl=H3ais YRFT bl
20,000& = 3% = 45¢ 2,700
207 & 51 OH £ Hl 44,000 22,000 22,000
01 284 44,000 22,000 22,000
02017 = Hci M HE8X 22,000,000 22,000
OM2Xt HEJI2t BHEAHeHM tHEESR
22,000,000& 22,000
307 glz2tol & 120,000 120,000 0
02 It M AHEE 120,000 120,000 0
OJIZFHIHE =sM0t2 2SI AEFA
120,000, 000& 120,000
EEAZOIEN It I+ CIMEE Xz 74,000 116,000 A 42,000
= 37,000
Al 37,000
301 et d = 74,000 116,000 A 42,000
= 37,000
Al 37,000
NJIEEd= 74,000 116,000 A 42,000
OEHAZQEN 29 74,000
OeldlE e Xig 20,000& = 1,500AllCH 30,000
= 15,000
Al 15,000
OQHEE X=s 10,000& = 4,200MICH 42,000
= 21,000
Al 21,000
OeldE e Xa 500,000& = 2EtX 1,000
= 500
Al 500
OQMEE X=s 1,000,000& * 1&HX 1,000
= 500
Al 500
HIAGESALE 24 1A JHALE (AZ) 40,000 36,000 4,000
= 20,000
Al 20,000
307 glz2tol & 40,000 36,000 4,000
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= _ — d =
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= 20,000
Al 20,000
02 IZtE M AHEE 40,000 36,000 4,000
OHIMAE2 ALY 2a0tA JHALE K&
40,000,000& * 1JHA 40,000
= 20,000
Al 20,000
M 2 E22HL 29 349,776 0 349,776
307 glz2tol & 329,560 0 329,560
05 RIZHRI &t 3 329,560 0 329,560
OFF=MUZSSHA 2A22F E=2
329,560,000 329,560
401 Al HIZ 201 I 20,216 0 20,216
01 A& HI 20,000 0 20,000
OFF=HMUIZSSHA AEHAHI
20,000,000& 20,000
03 AlE 2 THHI 216 0 216
OA &SI 20,000,000& = 1.08% 216
=SMHES F0HE M2 3,000 0 3,000
202 044l 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
O=SMNE BHHHE 23
20,0003 = 3¥ » 50 3,000
MEHE Al B XA 1,497,927 1,570,502 AT2,575
= 488,600
J| 108,000
= 215,980
Al 685,347
Egduy ¢ 22 540 540 0
206 M= Hl 540 540 0
01 =4l 540 540 0
OEY2Y ANlE MASII 6,000& * 904 540
HAME] SEAE AlAl 4,010 4,010 0
201 et 1,210 1,210 0
01 At 22l 1,210 1,210 0
OXNHMEHENES =X 1,210
(OF=E o 70,000& » 13042 910
O &8¢ 300& = 1,00001 = 13l 300
202 04l 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
OXNHEH HRFA 20,000& = 3% = 30¢ 1,800
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sPPERRY BAYHDY
WA HECA ZHIGEH
MEIEA BAEH

DA HB B (EH) - MBAY - BAS o A o SSa H RS2
206 M = Hl 1,000 1,000 0
01 & bl 1,000 1,000 0

ONGMEPRES &IIPY
1,000,000& = 13 1,000

OlMsS - A2 BSgR =& 79,414 104,118 N24,704
101 2124 1| 46,214 57,418 AN 11,204
04 JI2ZtHIZ2E2XNHEE 46,214 57,418 AN 11,204

ONMES=E B B4 46,214
O] 57,990& * 8% * 90 41,753
oA&dEE=Z 41,752,800& * 3.06% 1,278
OMILLUYEE=Z 1,278,000& * 6.55% 84
O=30d=2E=2 41,753,000& * 4.5% 1,879
onesss 41,753,000& * 1.5% 627
OMMES 41,753,000& * 1.42% 593
201 Bt H | 2,700 2,700 0
01 AP 22l Yl 2,700 2,700 0
O0IMSAIE B35 OHLY &40t
70,000& * 1090 & 700
ORMOIMSE Ot EE2 M
100& * 10,0000H 1,000
OOIMESZE OolBAMARAJIS =E
100,000& * 58 * 23] 1,000
206 M = Hl 5,500 5,500 0
01 = bl 5,500 5,500 0
ONtds28 #FXEYI 5,500
oOsJt012 45 2,000,000& 2,000
OfdotM=E2 EXNLEDILMN S)
50,000& = 50H 2,500
OltMES=2 90+ 200,000& * 5& 1,000
301 dEtEAZ 25,000 38,500 A 13,500
11 IIEtE &2 25,000 15,000 10,000
OMEsE PERA AHBA 25,000
Oz = dH oA 50,000& * 450AH 22,500
Oss & &g 0 A 25,000& * 100A 2,500

AostA3gdess X3 30,250 33,000 N2,750
201 et A | 2,550 5,300 AN2,750
01 AFR2t2l Yl 2,550 5,300 N2,750

OHAIZAN 7Y ot &bl

500,000& * 204 4 1,000
OXNHSHBENRSANS EEH

155,000& * 10JH 1,550
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 Bt A= 2,700 2,700 0
09 HAIAHI EAZ 2,700 2,700 0
OXNHEIHAEAN HUXNZR! WA AHEAS 2,700
OA = 20,000& * 30¥ » 2¢ 1,200
OsduN=x 50,000& = 10¥ = 3¢ 1,500
307 2iztol & 25,000 25,000 0
02 QIZ2IA AAIE E X 25,000 25,000 0
OXNHAEHAE XA 15,000,000& 15,000
OMENH EX ALY 10,000,000& 10,000
S2Z3&EA 34 &£ X3 1,000 3,000 A 2,000
201 Bt 1,000 1,000 0
01 AP 22| H| 500 500 0
o2& EBEZS M 500 = 1,0000H 500
02 23244 500 500 0
Ost=3 & A 235 & 3| 500,000& * 13| 500
SS3&EA 22l 4,500 4,500 0
201 et 9| 4,500 4,500 0]
01 AFR 2t 2| H| 4,500 4,500 0
O0lsA! H&aA 2AL0H 450,000 * 1000 A& 4,500
MO T o &2 A 120,000 120,000 0
J| 108,000
= 2,400
Al 9,600
301 LBt A= 120,000 120,000 0
J| 108,000
& 2,400
Al 9,600
01 Al E & X 462 120,000 120,000 0
osddHIol AEX 2H 20 120,000,000 120,000
J| 108,000
& 2,400
Al 9,600
OrM S =2 10l ol Ol & 154,313 66,900 87,413
= 35,000
=} 10,500
Al 108,813
206 M = dl 4,500 4,500 0
01 X2 bl 4,500 4,500 0
OOt ES= HoHole & Xl
1,500,000 = 34 4 500
401 Al HI L £ 0HHI 9,813 0 9,813
01 Al& H| 9,813 0 9,813
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OO0tMESZ20] 28t =0Imolet 2tg 2 A=
2T 5) 3,271,000& = 3ha 9,813
402 SI2FXHE0| & 140,000 62,400 77,600
= 35,000
= 10,500
Al 94,500
01 SIZEXIEANYEXZ (MMM E) 70,000 62,400 7,600
OO =SZ2 HoHUEAIAE AXI(Z=ILAISH])
70,000,000 70,000
02 CIZEXIEAISEX (0| XM THL) 70,000 0 70,000
OOtMES= HoHUBEAIE &X 70,000,000 70,000
= 35,000
=} 10,500
Al 24,500
OfME= IOlo 24 50,000 23,334 26,666
= 15,000
Al 35,000
301 et A= 50,000 23,334 26,666
& 15,000
Al 35,000
11 J|EtE A2 50,000 23,334 26,666
OOFMES =0 2/t Ilol2 & 50,000,000 50,000
& 15,000
Al 35,000
MEHH et M2 & X 37,700 49,300 A 11,600
= 37,000
Al 700
101 e1214| 10,000 28,600 A 18,600
o= 10,000
04 JI2ZtHIZ2 2 NEES 10,000 28,600 A 18,600
OMEHH WS OrM=ESAIZE E X 10,000,000 10,000
& 10,000
206 M = Hl 700 700 0
01 X2 Hl 700 700 0
O&Z 2 5 2 700,000& 700
401 Al HI L 2 0HHI 27,000 0 27,000
= 27,000
01 Al& H| 27,000 0 27,000
OMEHH WE OrM=EAIZ E X 27,000,000 27,000
= 27,000
=d0IEMeE X 908,200 1,109,800 A 201,600
= 453,600
== 136,080
Al 318,520
201 Bt 1,000 1,000 0
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©e MEHEAl 33X Y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 1,000 1,000 0
O=s=E=SHZE 200& = 5,0000H 1,000
307 21201 A 907,200 0 907,200
= 453,600
< 136,080
Al 317,520
02 QIAHFAAHEX 907,200 0 907,200
O£dOIEMel X3 A 907,200,000 907,200
= 453,600
< 136,080
Al 317,520
Ord=2 OoeXe X& 108,000 52,000 56,000
< 15,000
Al 93,000
201 ¢er24l 14,000 14,400 A 400
< 4,200
Al 9,800
02 =224l 14,000 14,400 A 400
O0tMESE IollLXE EEZ 14,000, 000& 14,000
< 4,200
Al 9,800
206 M= Hl 6,000 25,600 A 19,600
< 1,800
Al 4,200
01 MHZ 8l 6,000 25,600 219,600
OLIHEXH ANEE 25 S 6,000,000 6,000
< 1,800
Al 4,200
301 LAz 88,000 12,000 76,000
< 9,000
Al 79,000
1MIIEELES 88,000 12,000 76,000
OOME=E ZEBAZ(FIHAIEH])
58,000,000 58,000
OOMES=SEE B4z 30,000, 000& 30,000
< 9,000
Al 21,000
HY2FZH (sHF 22 SF3ZF M) 316,651 318,289 N1,638
ol 2 gl 249,471 249,549 AT8
ol Al 249,471 249,549 AT8
101 1A dl 249,471 249,549 AT8
01 2= 249,471 249,549 AT8
oxzuz2ex¢ 249,471
(@F=R-1E5 9,649& = 70Y = 30AI2t = 128 243,155
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- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OHJYZH 8,883& * 1H = 30AI2t = 128 3,198
OgdetAIIM(CIE)
8,660& * 30AI2t = 128 3,118
Jl=2&Hl 67,180 68,740 A 1,560
Jl2 &4l 67,180 68,740 A 1,560
201 LBt 9H]| 25,100 25,100 0
01 AP 22| d| 25,100 25,100 0
OJl=2gead S=sAHH(JI=HH])
12,500,000 12,500
o2l (21=4Hl|) 12,600,000 12,600
202 044l 27,000 27,000 0
01 2L Y| 27,000 27,000 0
O 2=l 27,000,000 27,000
203 SR F & 12,730 12,640 90
01 JI22HYRFAH| 3,300 3,300 0
OJ|H#2I I L8| 3,300
OJI=dH(43) 3,300,000& 3,300
02 AAADJMALAH 2 =X H| 5,230 5,140 90
OFRIAtE 2=&XH| 5,230
OJ|I=H(100H DHXI) 40,000& = 1009 4,000
OJ| &M (400 DHXI ) 30,000 » 41 1,230
04 EASHEIRFAH| 4,200 4,200 0
oORNEdYRE A 4,200
OJI=H (XS 30010|at) 350,000 = 128 4,200
405 X &HE S b 2,350 4,000 A 1,650
01 ML SEFSH| 2,350 4,000 A 1,650
O W21 (5004 OfAh) 1,000,000 = 1CH 1,000
03 oE Xt 300,000 = 10 300
o3zlog oKt 150,000 = 7JH 1,050
WEEs= (a2 stF3™H M) 170,000 115,000 55,000
WEAHA XK= 170,000 115,000 55,000
LHEAHH K= 170,000 115,000 55,000
701 JIEIZ HSHEZ 170,000 115,000 55,000
01 JIEIS HEE 2 170,000 115,000 55,000
OUES oZ2xTHHEE 22 70,000,000 70,000
02016 @I =2 ASEHE ol EH I}
45,000, 000& 45,000
OMIEHH HFA A SH2C] AlHHE S
g =29 55,000,000& 55,000
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A & 0l & AF 2 E A A
SN BFRRS HEIHY
M 90 HRE BEZA EF =4
&l 365 MRE F= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZzze28 N MY 27,648,145 23,877,335 3,770,810
= 2,123,500
< 1,097,900
Al 24,426,745
S0 RS HEBEA EF =4 27,605,475 23,835,745 3,769,730
= 2,123,500
< 1,097,900
Al 24,384,075
365 MRE H=F 11,136,418 10,058,901 1,077,517
= 40,500
< 12,150
Al 11,083,768
szl 2el 196,060 703,949 A 507,889
201 et 25,180 25,510 A 330
01 At 22l 12,910 10,840 2,070
OXINZ XS (HEHIE Hel)
60,000& = 108 = 12& 7,200
OSZACIANMNELY JI=2Z2F BH|
3,000,000& 3,000
OZ &MY &HAS 350,000& = 53| 1,750
OF=D| dX& 40,000 * 204 = 128 960
02 2524l 500 0 500
oszd oA MAE LS
25,000& » 20 500
03 &AL Z I 11,770 14,670 A 2,900
OsZ2eld EIA A 11,770
O8=+9 70,000& = 14 70
O MY 3zt 100,000 * 14 100
OoZ0Y +¢ 100,000& * 82K 800
OZ AHIH 150,000& * 8K 1,200
OEI&T fIZ AMAZ 1,200,000& * 8% 9,600
203 YR =&t 4,000 3,000 1,000
03 A Z=X AR =AY 4,000 3,000 1,000
ONBIM U ALY L2 =7
4,000,000& 4,000
301 et d = 139,880 149,370 A 9,490
09 HALAHIE& S 139,880 149,370 A 9,490
osZBRY M AR Ofd]
2,200,000 = 259H 55,000
oBFRY -SEHY MK
70,0003 » 2649H 18,480
ogAeY XA ATB
100,000& * 264H 26,400




SN BFRRS HEIHY
HE: oD RS BECA BFE X4
&l 365 MRE F= (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
FEEEEEEEEEEFRELECERED
2,500,000& = 16Y 40,000
401 AlEHIZL 2 0HY| 27,000 13,500 13,500
01 Al&H| 27,000 13,500 13,500
Ot &2 d AIRA &L XX AlE 2L X
5,000,000& 5,000
OBABAAME S& YETA
22,000,000 * 14! 22,000
MEMY I Al 8,779,720 7,725,318 1,054,402
201 et d| 92,520 91,630 890
01 AP 2t 2| H| 64,500 70,850 AN6,350
OsHIE MY His 22 HE
5,000& * 8,000% 40,000
ONeo sduNsE E82 MHZ
1,000& = 20,0004 20,000
OXUX EIANZ SHHEE E=AEIH M
50& = 5,000MICH = 10& 2,500
OFAKRZBA EH 2,000
OFASSX ZEI 100,000 = 20H 2,000
02 Z=22%H| 28,020 20,780 7,240
OFAXH2AZAIAE X2 2H|
150,000& = 6& 900
OFAXHFZCAIAE GPSSHUD| AIEZE2
11,000& = 60CH » 12& 7,920
oOMeEE2LHELXEA CCTV S22
100,000 = 130H * 12€ 15,600
OMYIISYED 2tAl CCTV EEAAE EAR
= 300,000 = 12& 3,600
202 044l 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OFAYA =HAYE SZHAEA
20,000 * 28 » 50 2,000
207 I & 20,000 32,000 A 12,000
01 d32E<H| 20,000 32,000 A 12,000
OMEHII= =& HELXN BotEd
20,000,000 = 14l 20,000
301 et A= 98,400 59,600 38,800
09 HAIAHI BEAZ 89,600 59,600 30,000
OZ2=Z SS AL AHl 24 51,500
OsX<g 15,000& * 1,60024 24,000
OgHAS 25,000& = 1,100 27,500
O=sg&EI S E X HA&X As
500,000& * 9 4,500
OAlQl SHAZ2ZAI =& 30,0008 * 1508 * 4H 18,000




2N BFBRARSY HEIHD
HE: 9D RS BLTA HF X4
SHel: 365 THRE HF (B9 ®R)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OZgoles 2ol 20 29
10,0008 * 1344 * 128 15,600
1 JIEH2 43 8,800 0 8,800
9D MR HFUESI =T O 8,800
oze% 1,000,002 * 44 &t 4,000
os% 700,008 * 474 £ 2,800
OF-T! 500,008 * 424 & 2,000
307 212+01 & 8,566,800 7,505,088 1,061,712
05 212t9IEt 3 8,566,800 7,505,088 1,061,712
OMBHIIZ +TSY e+ 42 8,566,800
OZsFe dels
1,108 * 150,000M Ch * 122 1,998,000
OgsFe dfely
2,490 * 80,000KICH * 128 2,390,400
ogsxe s
3,0402 * 80,000KICH * 128 2,918,400
o8BS X Jtels
3,7502 + 28,000KICH * 122 1,260,000
MBI B BE M L 23 1,800,633 1,629,634 171,004
206 T 2 bl 1,799,633 1,608,634 171,004
01 T2 bl 1,799,633 1,608,634 171,004
OMYIIZYH RABE W 1,799,638
oggrs 1,550,480
52/ 2921 * 200,0000H 5,800
-102I & 362 * 3,200,000 115,200
-202/ & 5421 + 4,000,0000H 216,000
-502 & 1182 * 2,300,00004 271,400
~1002I Ef 2082 * 1,700,0000H 353,600
~OHCH (2021 E1) 3302 + 15,00004 4,950
~0hCH (5021 E4) 41281 * 400,000 164,800
~0HCH (10021 E1) 5602 * 70,0000 39,200
-THAFE (10216 392 * 1,270,0000H 49,530
~TH AL & (2021 E) 552 * 6,000,0000H 330,000
ozzs 92,558
-502I & 1182 * 520,0000H 61,360
~0hCH (5021 E4) 41281 = 4,0000H 1,648
~0FCH (10021 E1) 5602 * 30,0000 16,800
~de M BOH (170216
7502 * 17,0000H 2,750
SET-ET-! 135,000
~202I & 542l + 2,500,0000H 135,000
oYX REXZ 8 21,600
202/ 5420 * 400,0000H 21,600




SN BFRRS HEIHY
HE: oD RS BECA BFE X4
&l 365 MRE F= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 1,000 1,000 0
NJIEEd=s 1,000 1,000 0
O=SgASE RS ¢ B3
500,000& = 23| 1,000
HOHILAXE 2YH EX 360,000 0 360,000
= 40,500
< 12,150
Al 307,350
405 XHoHF S HI 360,000 0 360,000
= 40,500
< 12,150
Al 307,350
01 AR ESFH S 360,000 0 360,000
OFAHINA HAX ESAY 360,000, 000& 360,000
= 40,500
< 12,150
Al 307,350
HAR dz=8 Jlgtxd 15,814,294 7,969,772 7,844,522
= 2,083,000
< 1,085,750
Al 12,645,544
SASF HJIS Mel & 2 8,708,674 7,040,092 1,668,582
201 Let24E] 333,771 261,831 71,940
01 At 22l 168,840 141,002 27,838
OSASRHIIE Hel4+42 HREE R0
30& = 2,700,0000H 81,000
OSASRHIIZ 2 822 M
200& = 80,0000H 16,000
OSAMZEEN S 822 MH
3,000& = 8,0000H 24,000
ORFIDEXI NI ZHZQE XS (202l S
E5) 370& = 40,0000H 14,800
odessa ZTEHEI MZEH 800& * 30,0004 24,000
OsAEMYI HNZ22s s SEHMESE A
&t 9,040
O&O0ILA(502IH) 8903 * 6001 * 1000 A 5,340
O&d(202lH) 3703 = 1004 = 1,000H 3,700
02 23=2gl 164,931 120,829 44,102
OMNEAHSEH KX E=HI
1,805,000 * 830CH * 8/100 119,852
OMNEAH S ZHl sS4l
4,526@ = 83001 » 12& 45,079
301 et a = 47,838 39,703 8,135
MIIEELES 47,838 39,703 8,135
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HE: oD RS BECA BFE X4
S HY 4= Jlgtxd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3 SAESRHIIE Mels==8 U
Hé 2a= 1,0008 * 79,730MICH = 5% 123 47,838
307 glz2tol & 8,127,065 6,679,500 1,447,565
05 RIZERI & 3 8,127,065 6,679,500 1,447,565
OSAESRHIIZE =¥2EMel AU+ 8,127,065
O=& 28yl 91,370& = 209& * 3652 6,970,161
OXH el 99,050 * 32& = 3652 1,156,904
402 RIZER201 A 200,000 0 200,000
01 U2 E2ALE X (KA ) 200,000 0 200,000
OsASMAIl AHHMlIl X3 A 200,000
OPIFSE= 875,000& = 100CH = 80% 70,000
ogas 3,250,000 * 50CH * 80% 130,000
2E 243 13135 A2 A 122,940 123,540 A 600
201 Let2d] 41,527 47,727 A 6,200
01 At 22l 35,100 41,300 A 6,200
onMges =FtHEs 2= M&
1,000& = 27,0000H 27,000
oMgEs =]t E2& AEA
575@ = 5,2170H 3,000
ongs =2FHE MEssud 29 1,740
A= 40,000& = 403 1,600
Og+=% 70,000& * 23l 140
oness =FHE & 3,360
O8 =5 70,0003 * 4804 A& 3,360
02 =24l 6,427 6,427 0
OMEEHLH(R) 23223 1,150
Ousseg=ReEs 300,000& * 10HA 300
OEEANMES FI ATHBA =2
50,000& = 13 50
OHHIAMN =2 400,000& = 23| 800
OME S (3R)HEH AMAEEH RAHl
3,514& = 1,501.54m 5,277
206 M= Hl 46,900 46,900 0
01 M= 4l 46,900 46,900 0
OHEZS 288 228 7Y
100,000& * 4074 4,000
O0ISA MESE 22408 7
300,000& = 104 3,000
OHEZE HAEXN =HE ¢
300,000& = 4004 12,000
oY FII Y MY BELNE 2Y
1,000,000& * 207K 20,000
O&0H =HE S5 MH 7,900
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B oD HRE BETA
K =]

e
S B =8 Jletxyd (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
0202l & 56& * 100,0000H 5,600
O502I & 1213 * 10,0000H4 1,210
O 1002l & 218& = 5,0000H 1,090
301 dEtE A= 19,513 18,913 600
09 HAIAH EA=S 238 238 0
OEFANNBEHEEF=AEH S HA
7,000& * 179 * 23] 238
11 IIEtE A2 19,275 18,675 600
O18lES AN A NEAZ 40,000& * 15A 600
orEI 53 0IXZ 200X ANBa3
30,000& = 20 600
O=01™ =) 2AZ(3EX X3)
250 * 10000 * 4304 A 1,075
oMgEE =& JAUg Z4 17,000
O& W (10041) 8,500
-X 2% 1,500,000& * 2JH 1 3,000
-2 1,000,000 = 3JH 12 3,000
& 500,000& = 501 2,500
O3SF¢ (10 A) 8,500
-E 2% 1,500,000& * 20 A 3,000
-2 1,000,000 * 3JH 2 3,000
-&d 500,000& = 50 A 2,500
307 QI2t0| M 15,000 10,000 5,000
04 QIZFSHAFAIRE 2 X 15,000 10,000 5,000
OOLIECEH Lh= & H 15,000,000& * 14 15,000
SEHHE 20243 341,000 341,000 0
= 31,000
T 62,000
Al 248,000
301 dEtEAZ 341,000 341,000 0
= 31,000
T 62,000
Al 248,000
11 IIEtE A2 341,000 341,000 0
OsZHH Y =HEA 341,000,000& 341,000
= 31,000
= 62,000
Al 248,000
SE APy £ 9,840 9,840 0
301 YerE A 9,840 9,840 0
11 IIEtE &2 9,840 9,840 0]
OsULYHH BA= 9,840
OKcdY 120& * 2,000kg 240




SN BFBARE VAEHDY
HE: oD RS BECA BFE X4
oSl BN Maf JIgEl (SHol: @)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZetrg 320& = 30,000kg 9,600
SASFHIIS HEASEI EXAY 208,900 417,800 208,900
401 A& HIZ 2018 208,900 417,800 A 208,900
01 A& HI 208,900 417,800 A 208,900
OSASEHIIS HEHSEI XA
2,089,000& * 100CH 208,900
SAPH =g ZAXXH 12,500 37,500 A25,000
< 3,750
Al 8,750
206 M= Hl 12,500 37,500 A 25,000
< 3,750
Al 8,750
01 M= 4l 12,500 37,500 A 25,000
OsoHIE A e AXIAL
500,000& » 2504 & 12,500
< 3,750
Al 8,750
EFA CI=S0EHEH HEAY 6,325,440 0 6,325,440
= 2,040,000
= 1,020,000
Al 3,265,440
401 Al HIZ 201 I 6,325,440 0 6,325,440
= 2,040,000
< 1,020,000
Al 3,265,440
01 A& HI 6,269,440 0 6,269,440
OCI=Z0tENEH EXIONY 2HEIHYI
3,000,000& 3,000
Ocl=LOotEMEH EXI0HHEl 1,300,000,000& 1,300,000
Ocl=20tEdH &l 166,440,000& 166,440
Ocl=Z0tEME A=ZAtHl  4,800,000,000& 4,800,000
= 2,040,000
< 1,020,000
Al 1,740,000
02 Zeltl 42,000 0 42,000
OCI=LZ0tEHH MESA 22lEY
42,000,000& 42,000
03 Al S THHI 14,000 0 14,000
OcCl=LO0tEMEH =&AY AIERUH
14,000, 000& 14,000
SSdGY 25X 85,000 0 85,000
= 12,000
Al 73,000
401 AIEHI L 2 CHYI 85,000 0 85,000
= 12,000
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M ot JHRE HEZA
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5 e
R HAY d=8 J|gXH (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 73,000
01 Al&H| 85,000 0 85,000
O=sZHH Y ssdatd &1
5,000,000& * 8IH A 40,000
= 12,000
Al 28,000
O=sZHH Y ssdatd &1
5,000,000& * 9IH A 45,000
MM HII=S2el 65,888 30,364 35,524
HIIS XA & 22| 65,888 30,364 35,524
201 gBt2A | 15,688 20,164 N4 476
01 AP 22| H| 10,780 15,280 A4 ,500
OHIIE NE&EZE Kol
8,0008 » 5& * 128 480
OEATU(HIISZH F2AHA)
100,000 * 2= 200
O=SYHMEHII=E Helx=x=
300,0008 = 10 3,000
O=SYMEHI S 2=&H =
400,000& = 1 = 23] 800
OHIIZ2 2248 A==
300,000& * 63| 1,800
OHIIZ2 2 Ml =g M
4,500€ « 1,0008 4,500
02 E2=2=24%H| 4,908 4,884 24
O Xt e] 4,908
OJIEH(AEE) 4,908,000& 4,908
202 044l 10,200 10,200 0]
02 NI 10,200 10,200 0
OHIISXNEEHE =&
170,000 = 5% * 12& 10,200
207 I & d| 40,000 0 40,000
01 24| 40,000 0 40,000
OAZAANM ZHXA BAAS 2T AR
40,000,000 * 14! 40,000
HIIE2 H2lAd &= 588,875 5,776,708 N5,187,833
ZANEH A 2AEAESH 02 FUSSAY 588,875 471,375 117,500
401 AlEHIZL 2 0HY| 588,875 471,375 117,500
01 Al& b 585,375 468,135 117,240
OFU7E T2 L& 2 AH(L=235m)
30,000,000 = 1Al 30,000
OH|ol25E OIS2a & S=ZAM(1MA)
30,000,000 = 1Al 30,000
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M ootD WRE HACA

e
el HIIE MoAE &= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMZE18S CCTVA XIS AH(4H 4 )
20,000,000& =« 14l 20,000
OXN 4268 CCTVA XIS AHBIM A)
30,000,000& * 14 30,000
OXNS158 LML S AH(1I L)
25,000,000& * 14 25,000
OXNS168 OtAZHMN I3 AFH(L=290m)
30,000,000& * 14 30,000
O&S288 CCTVA XIS AH(1000 &)
40,000,000& * 14 40,000
©O=2/138 0t2+2 F 4|3 At (L=200m)
50,000,000& = 14 50,000
O=214E 0= 2t2d & Hl 3 AH(L=420m)
60,000,000& * 14l 60,000
O AtQI12l CCTVAE XI = AH(40H &)
20,000,000& =« 14 20,000
O Atel2e] Ots et HH|I 2 AH(L=350m)
60,000,000& * 14 60,000
og=31el T2 X &I AH(L=158m)
50,000,000& = 14 50,000
O&=33cl ZAAS 2 SEtel WM S AHL=900m)
60,000,000& * 14 60,000
Ost&el =22 &I 3 AHL=300m)
50,000,000& = 14 50,000
OFA7S2 ML FUSJAMY HAILZAHES
445,000,000& * 4.03% 17,934
OME1BS2 3MA CCTVEXIZ A AAEHES
110,000,000& * 11.31% 12,441
03 AIE 2 THHI 3,500 3,240 260
OBUTEL 1304 FUSAANY XX AL
CHyl 3,500,000 3,500
M (22 NG M) 42,670 41,590 1,080
Jl=& 4l 42,670 41,590 1,080
Jl2ztl 42,670 41,590 1,080
201 Let2d] 21,190 21,190 0
01 At 22l 20,080 20,080 0
OIEARLHHSHY (I EZI)
10,000, 000& 10,000
os2d (JIE&Hl) 10,080, 000& 10,080
02 =224l 1,110 1,110 0
O A& ZHI S X 1,110
OLE= A 15,000,000& = 1CH * 6% 900
O&E = AMI S
3,500,000& = 108 = 6% 210
202 04l 17,280 16,200 1,080
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A & 0l & AF 2 E A A
AN 3222 A 2el
M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZzze28 M2l 24,613,538 23,184,948 1,428,590
= 1,097,000
Al 23,516,538
HOI2S NUJsdle &Ed3 ANd2d 20,184,868 17,796,733 2,388,135
= 1,097,000
Al 19,087,868
=010] QtAlGt=E HIOI2 MelAl&d 19,676,536 17,353,157 2,323,379
= 1,097,000
Al 18,579,536
FFA LA 2AAL 22 6,820,020 5,034,069 1,785,951
206 = Hl 4,000 4,000 0
01 M2 4l 4,000 4,000 0
OA2AAEL T MEXNAE Sty 7Y
400 = 10,000kg 4,000
207 RO 166,000 146,000 20,000
01 A3 39l 166,000 146,000 20,000
OF=HBALZAE SHEMY(25D]) AHFE
IS TA EY 146,000, 000 146,000
OSAMAEEANSL(HIISHAALE) AAIAHE =Y
9 20,000,000& 20,000
307 glz2tol & 4,373,020 4,779,320 A 406,300
05 RIZt2IE = 4,373,020 4,779,320 A 406,300
Os4=% HJIZ2 24X HIS
30,000& = 25% » 50& * 60 22,500
OLLANAE 250 /€ 29
59,3353 * 200& * 30 » 12& 4,272,120
OA2AE 237 HIIEAH R DHLUA HE
HIIZ fIEX™eldl  140,0008 * 280& * 23| 78,400
401 Al HIZ 201 8] 2,277,000 104,749 2,172,251
01 A& HI 2,277,000 104,000 2,173,000
OA2AIE 12| gtAA BtEE WX
890,000,000& * 14! 890,000
OAL2ZAIE 187 2XH A =20 Wi
587,000,000& * 14! 587,000
OUEHII=ZE A MEEHD MF
770,000,000& * 14l 770,000
OZ=0I&Ad3E KXl 30,000
OFz20IstE33 £&, ¥N&EY
20,000,000& 20,000
OFz20I&#E33 A& SXdl 10,000,000 10,000
EE HEHE 282 1,057,681 687,095 370,586
201 ¢er24] 195,138 188,952 6,186
01 At 22/l 111,031 88,510 22,521
O ZE I ZA =2 50,520
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2N BESL BABD
2

M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld
SA - BB (3) - NRAL - B Of & o il
02 =224l 84,107 100,442

OZIMEEH HIIRS 24,837
oJleesz 17,265

-2 BHE (2) DA
8,230& = 160KW » 1JHA « 123 15,802

A E () DA
7703 « 7KW = 1D « 128 1,463
SEEBI-E 7,572

-~ () DA
116& * 3,500KW » 1JHA = 128 4,872

A B (2 ) DA
90 * 2,500KW * 1JHZA = 128 2,700
OSHMEE &I 839
OoJlges 341
-FEHEMH 6,160& * 1A + 128 74

MBS (2 M
5,550 * 4KW » 104 « 123 267
OFSE=R=3°4=, 498

e

1263 * 200KW = 1J0HA « 123 303

Y E(Z)M
813 = 200KW » 1A « 123 195
OXSXHAl 2t& JAl 792
OArEsE 260,000& = 1CH = 13l 260
OFE=J-i3— 26,0003 = 2CH = 13 52
OUgst=(8.58) 120,000& = 1CH ~ 12l 120
OE X (15&) 180,000& = 2CH = 13 360
OAMERL S (XHE) 1,096
L2ESE 50,880& = 1CH = 23] 102
OA83t= 71,2303 * 204 * 23] 285
ZH2(5E) 183,180& = 104 = 23l 367
OUEst=(8.58) 170,540 = 104 = 23l 342
OXNUEEH= (MY, TF) 2,160
Oxds¥ 230,000& 100 = 12 230
OAE3t= 290,000& = 208 = 13l 580
O=8st=(5E8) 550,000& = 1CH = 13l 550
OUEst=(8.58) 800,000& = 104 = 13l 800
O=ZHl BE= 2,100
O=401 2 48 350,000& = 6CH ~ 12l 2,100
oxte & SEHH M =2 481
Oxt& 50,000& = 5CH = 12l 250
O &l 38,5003 = 6CH ~ 13 231
O ZHl =Xl 1,117& = 2,000 * 12& 26,808
O Xt& & Byl 22,104




K- B3-S (8) - HRAY - BES 0l &k o4 il Hl D&
Os&8xt 4,908,000& =+ 1CH 4,908
Ost=xt 4,299,000& * 404 17,196
QU =2l 50,000& = 5CH 250
ORHSAIHI(HE S ZE CCTV)
220,000& * 123 2,640
203 YR =&l 2,000 2,000 0
03 AMBZAHSF 2,000 2,000 0
OHJI= HEH HRFX 2,000,000& 2,000
206 M= Hl 122,143 126,043 A 3,900
01 =8l 122,143 126,043 A 3,900
OMEZE & FHOES YAAZ 83,480
O%a &z [(OH& & LH)
3,260& * 20L = 50 * 9 29,340
OHa =it g o g Xd)
3,500& * 20L = 20 ~ 63 8,400
OYAMSH(HSE & A XH)
22,000& = 1L = 30 ~ 63 3,960
Ogda=sq 418 &2 XH)
22,000& = 1L * 40 ~ 63 5,280
OZUEZ FROS HESLAAZ (U
E) 2,500& = 2,3000t7 = 6K 34,500
OLMNIE Z22Y YAAZ(HAS)
2,500 * 40002 = 200 2,000
OZSZE(MEH A2EE HMEHAE)
400 = 20,000kg 8,000
O=EEE =&2M 13,000& * 700m 9,100
ORZU+E (2B AME)
1,700& = 5004 = 43] 340
OF&E=+ 0822 4 111 2,723
Of2&EA & 100A 242,000 * 504 1,210
Of2E A 8& 150A 302,500& = 504 1,513
Ozl 2ZaclE 2248 UM
5,000,000& =+ 13l 5,000
OMEZ HIIANE KX 2l 5,500
OS®XSHI| (4P * 50A) 130,000& * 10K 1,300
Ot & XD (3P * 50A) 46,000& = 104 460
Ol g s (250W) 74,0003 = 1004 740
OF& (3P * 10SQ) 6,000& = 500M 3,000
o3& zel 8,000
OM=HM & a=H 18,000& » 300& 5,400
OZ2 M8 &4& S 20,000& * 30% 600
OZ2E2+¢Y 2,000& = 2502 = 43| 2,000
307 gl2tol & 5,400 5,400 0
05 BIZtRIE = 5,400 5,400 0




2N BESL BABD
2

M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OR0 MIUZHAAY SA(FAMEH)
250,000& = 12& 3,000
ORQ HXZHAMAY EA (A2 ALRA
) 200,000& = 12& 2,400
401 Al HI R 201 I 733,000 110,000 623,000
01 A& HI 730,000 110,000 620,000
OZIMEBE NMEANE =81 H|
5,000,000& = 14 5,000
OZ=ZHl =4l 30,000
oz 10,000,000& * 1CH 10,000
OosJ1gx 5,000,000& * 2CH 10,000
O=4t)| 10,000,000& * 1CH 10,000
O&F&E+ MRXE &4 5,000,000& =« 1CH 5,000
O E ANEKRXE =4I 90,000,000& 90,000
OZIMEE o= £X
150,000,000& * 14 150,000
OZIMEE MY EXISA
450,000,000 = 14l 450,000
03 Al 2 THHI 3,000 0 3,000
OZAMEE M EXSA AIZRUH
3,000,000& 3,000
Hatss d8A8 2el 410,000 120,000 290,000
401 AIEHI L 20 410,000 120,000 290,000
01 A& HI 410,000 120,000 290,000
OMEESHEZ RAE=H 100,000, 000& 100,000
OMESZHEHE XNAX wxH
75,000,000& =« 1CH 75,000
OMEBESHEZE HIE =28 =0 X
185,000,000& * 1CH 185,000
oOMEsSsHEY NdEA U2 2de WA
50,000,000& = 1CH 50,000
SAERHIIZ XNJAZFAE 2F 9,194,835 9,011,993 182,842
207 51 OH £l 9,800 10,000 A 200
01 284 9,800 10,000 A 200
OQUAETIML (H=TESHPEIES L SAE
Ml Mealdl &E 249 9,800,000 9,800
307 21201 A 7,500,035 7,734,073 A 234,038
05 RIZt2lEt = 7,500,035 7,734,073 A 234,038
OsAEFHIIE HMel 5,484,476
Osalg HMeldl 70,5128 = 200& = 36562 5,147,376
O2uU ™eldl 140,000 » 5& * 3652 255,500
OB+ 25| 340,000 = 20H = 1202 81,600




SN sEBRER NABY
Mz HII=S=S NIsots EEtd AIE2Y
Eel: F=0I0| otAdel= HIIZ2 XMelAlE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oMU X3HAlE Heldl
29,211& % 200& = 345 2,015,559
401 AlEHIZL 2 0HY| 6,000 1,267,920 N 1,261,920
01 Al&H| 6,000 1,245,240 N 1,239,240
OSASNIATAE FHOS(AN 1,272) ME
g =&Y 3,000,000& = 23] 6,000
402 BI2H X 20| M 1,679,000 0 1,679,000
03 QI 2HCH &4 AF S HI 1,679,000 0 1,679,000
OSAZSXNISGAIE Ds8SI| MHWH ALY
1,679,000,000& = 14! 1,679,000
TEHWNUHKXNEIS =4 2,194,000 2,500,000 A 306,000
= 1,097,000
Al 1,097,000
401 Al HI L 2 0HHI 2,194,000 2,500,000 A 306,000
= 1,097,000
Al 1,097,000
01 Al&H| 2,192,000 2,498,000 A 306,000
OXEAHNUHHKXEIE =M 2,192,000,000& 2,192,000
= 1,096,000
Al 1,096,000
03 AlE 20| 2,000 2,000 0
OXEAHANUXER =M 2,000,000& 2,000
= 1,000
Al 1,000
FOXEEAM 2 508,332 443,576 64,756
ZAAZAALE FOXSEAN 2EXA 257,338 204,801 52,537
301 et A= 245,338 204,801 40,537
11 J|EtE A= 245,338 204,801 40,537
OHFH FALAANL FULANQY 49
2432 a2 242,938
OAZAIE FOZARE 49 219,493
“2ANSH 2R4Y
99,880& * 5Y * 262 * 12& 155,813
“AAN2 BURRLY
99,880 * 150% * 5H = 65 48,692
AN AAADRLY
12,490€% = 150% ~ 5% = 160 14,988
O22AANE FOUAAANRY 23 23,445
-AAdEsEE 242
219,493,000 = 3.06% 6,717
-2 QUBEE 22
6,717,000 * 6.55% 440
-=2013 22 219,493,000& * 4.5% 9,878
-NE88s 222 219,493,000& * 1.5% 3,293
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ro o2 i
¥ 02 oY
[0 Ho e

[=s
oY o
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[alut]
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02 08
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=5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-159 ol ~ 174 Oiet
1,883,238& » 3FH  12&8 67,797
o&n= 96,250
-JIZ==2 2,500,000& * 7% * 43 * 50% 35,000
-2 2,500,000& * 7% * 23| * 50% 17,500
-XI S e
2,500,000& * 7¥ = 53 * 50% 43,750
oFULY 166,836
—Sa9T EAT 4
90,000& = 7& = 128 7,560
-AY s 70,000& = 79H « 128 5,880
Rt = P =] 130,000& = 7H = 123 10,920
-IESE 7,080
bH < Xt 40,000% * 78 * 123 3,360
=Hl5 20,000& = 149¥ « 123 3,360
ANHXRE JHab=a
30,000& = 1H » 123 360
NN E R B =, 5,400
- S 50,000& = 3H =« 43| 600
- NSsh 400,000 = 3H = 43| 4,800
-ZR224Y 129,996
guaesy
128,970 * 150% = 7% * 52 * 128 81,252
SAZeRRLY
25,7902 * 150% * 15AI2F » 7% * 12 48,744
=l
O=cl=4| 33,393
—ZAHZ A 160,000& » 798 = 12& 13,440
-g &S0t
2,375,300& * 60% » 7¥ * 23 19,953
O=d=TX 36,120
-9 &l 80,000& = 79 = 12& 6,720
-FExg 50,000& = 78 » 123 4,200
b= 300,000& = 798 » 12& 25,200
OAXtsE2F/It=Y 128,970& + 7H » 20¢ 18,056
otz & 42" RES 51,413
OAH2E2E T 23 481,349,000 * 3.06% 14,730
OEIRAEE 23
14,730,000& * 6.55% 965
O30z BES 481,349,000& » 4.5% 21,661
OLNsE8s Y3  481,349,000& * 1.5% 7,221
OMTHEE ZE 23 481,349,000 * 1.42% 6,836
ostzg el Il=l 6,160
o= 90,000& = 7H » 635 3,780




SA: BABRER GRBRAL
HaM: 2P H (#F 228 22 W)
chel: ol gyl CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ogst= 100,0008 » 78 « 1= 700
OerA 3t 60,000 * 79 x 23] 840
Ootd 2 15,000& ~ 7 * 23] 210
O&3 15,000 = 7 * 23| 210
[@F=3=] 15,000& ~ 78 * 23] 210
O&A x| 15,000& = 7€ * 23| 210
Jl2 &l 30,982 30,272 710
Jl2 &4l 30,982 30,272 710
201 et 9| 15,022 14,062 960
01 AP 2t 2] d| 12,048 12,048 0
OJI=2Hd L2 AY|(JI=HH|) 6,000,000& 6,000
o2l (J1=&Hl) 6,048,000 6,048
02 B232%H| 2,974 2,014 960
oORTR= 633
o2 H 2708 * 200= 54
OsJ|I2H 1,930& * 300 579
ojErsa 960
O X 15,000 = 1JHAF = 12& 180
O Xl Xl 13,000 = 5JHAF = 12€ 780
OAHOISTV =8 & 28,000 = 304 ~ 12&€ 1,008
O A& Z&Hl KX 280
O&XE A Kb
3,500,000 * 1CH * 8% 280
(OFSkc3or=; 7,700& « 1CH ~ 12& 93
202 o4 | 12,960 12,960 0
01 2L HI 12,960 12,960 0
O=2LHAHI(J1=FHI|) 12,960,000 12,960
203 ¥ 2 =&XH| 3,000 3,000 0
04 FEASHELIFFEH| 3,000 3,000 0
©J|I =M (15010|56t) 250,000 ~ 12€ 3,000
HEss(stZdeEs FA 2 3,820,266 4,726,568 A 906,302
WEAHAHXI= 3,820,266 4,726,568 A 906,302
LHEAHH K= 3,820,266 4,726,568 A 906,302
702 |28 E2 3,820,266 4,726,568 A 906,302
[PIERSE = 3,820,266 4,726,568 A 906,302
OZEHIISMEH F=HASXE =X D
= 2,500,000,000& = 13 2,500,000
OFFH ZAAAANE FHASXE F=0XA
= 1,247,066,000& = 13 1,247,066
OSASNUASTIALE FHOS(AMUHS) 22
60,000,000& * 13| 60,000
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= A
N = 0] &F AF S & AN A
SN BFBRARE SEEHY
Mz Xlotg= 22l
e XKoot Es 22l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
stHF2A 22 ot=FH A 15,137,433 19,372,858 N4 ,235,425
= 96,000
Al 15,041,433
Xlok4 2el 930,700 1,040,350 A 109,650
o= 96,000
Al 834,700
Xloltx B 22| 480,700 440,350 40,350
=} 96,000
Al 384,700
KXot AIEE2 22l 700 350 350
201 et 700 350 350
01 AP 2t 2] H| 700 350 350
O bt=2H| 700
OXote ol28d=a DAAM 7Y
70,000& = 108FA 700
Koty BEX=Y AXAY 480,000 440,000 40,000
o=t 96,000
Al 384,000
401 Al HI L 2 0HHI 480,000 440,000 40,000
o 96,000
Al 384,000
01 Al&H| 476,570 436,920 39,650
OXlols BEX2=Y HAXAS 476,570,000 476,570
& 95,314
Al 381,256
03 AlE 21| 3,430 3,080 350
OXldls BEX2=Y XA 3,430,000 3,430
== 686
Al 2,744
SE8HQ0l Xlotx= 22 450,000 600,000 A 150,000
KXot ZelAA8 RE ALY 450,000 400,000 50,000
403 XX SRS K 20| & 450,000 400,000 50,000
02 2| 2SS RA=2=U & AFS Y 450,000 400,000 50,000
OXlots Zt2lAlA8 2= AFY 450,000,000 450,000
HMSHAY (P22 =22 olLE=Az) 13,644 21,200 AT ,556
olea 2HH| 13,644 21,200 N7 ,556
Jl2&4l 13,644 21,200 A7 ,556
201 et 6,024 10,640 A4 616
01 AR 22l ] 6,024 10,640 N4 ,616
OJl2gsaigs A 3,000,000& 3,000
o2&l (21=4Hl|) 3,024,000 3,024
202 044 6,480 7,560 A 1,080




SN BFBRRS SHEFM
HH: HHSYAU (BAVEZS SHSF M)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 6,480 7,560 A 1,080
O=UadabI(2IEZHl) 6,480,000 6,480
203 YR =2t 1,140 3,000 A 1,860
04 EASIYRFLH 1,140 3,000 A 1,860
ORN2EYR=AHI 1,140,000 1,140
HWees(sgdHele:? ot 1) 14,193,089 18,311,308 24,118,219
UWEAHHXES(SHERt=HeE2Y) 11,400,000 11,400,000 0
SHHRAG =M EE2E 283 11,400,000 11,400,000 0
701 JIEtSI HEHES 11,400,000 11,400,000 0
02 BIILELEIHBILNES 11,400,000 11,400,000 0
osgHRotl=M2E2L 11,400,000, 000& 11,400,000
HEHHXE 2,793,089 6,911,308 24,118,219
JIEISE3HNEES 2,793,089 6,911,308 24,118,219
701 DBt HSHEES 2,793,089 6,911,308 24,118,219
01 JIEtZIHEES 2,767,241 6,911,308 A4,144,067
OHHRASt=HMel & X ALY 138,802, 000& 138,802
Odt=21 FHIAY 1,964,303, 000& 1,964,303
O=s0HEOISot=E ALY 97,141,000 97,141
ONEEoXMelAE HEAY 86,915,000& 86,915
Osze 3= & MOS8 SEIAMY
480,080,000& 480,080
02 BIILELEIIHBILNES 25,848 0 25,848
OXot=m&H & =2 25,848
OsNd (&= E2X4)
840& = 6004 » 123 6,048
OsXg(axz 0IB2XH)
1,000& = 1204 = 123 1,440
OSHANZA (&5 B2XH)
900& = 2004 = 123 2,160
OSHNE (422 0IES2NH)
1,500& = 9004 = 123 16,200




